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2 

3. 

1. (a) What is Macroeconomics ? Explain the different 

Macroeconomic issues in detail. 

(b) What are the important consequences of the 

differences in the classical and Keynesian views! 

(10,5) 

ng used I 

(a) Define private saving-How priva 

the economy ? 
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(b) Discuss the Expenditure and Income approach to 

measuring Gross Domestic Product (GDP). 
(5,10) 

3T f AT? 

Suppose the consumption function is given by 
C = 100 + .8Y, with no government while investment 
is given by I = 50. 

(i) What is the equilibrium level of income in this 

case ? 

(11) What is the level of saving in equilibrium ? 

(11) If, for some reason, output is at the level of 800, 

what will the level of involuntary inventory 
accumulation be 

(iv)If investment (1) rise to 100, what will the effect 

be on the equilibrium income? 

(v) Draw a diagram indicating the equilibria in both 

(15) (a) and (d). 

P.T.O 
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AG f 37HTT hot C 100+.8Y RT 
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(i) 

(i) 

(ii) 

(iv) () qç 100 a TTT , HTAA A T 

) How are desired saving and desired consunp 
mption 

affected by increases in current income] 
expecteu 

interest 

uture income, wealth and changes in real 

rate ? 

(b) Explain the concept of Money 
Multiplier. 

(10, (10, 5) 
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5. Described by the following functions: 

Consumption C-50 +.8YD 

Investment F70 

Government Expenditure G 200 

Transfers TR= 100 

tax rate t.20 

(i) Calculate the equilibrium level of income and the 

multiplier in this model. 

(11) Calculate also the budget surplus, BS 

(1i) Suppose that t increases to .25. What is the new 

equilibrium income? The new multiplier? 

(iv)Calculate the change in the budget surplus. Would 

you expect the change in the surplus to be more 

or less ifc =.9 rather than .8? (15) 

P.T.O. 
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C-50+8YD 

70 

G- 200 

TR= 100 

t=-20 

(i) 

c = 9 ui8? 
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6. What are tne determinants of demand for money 
6 

Explain how the demand for and supply of central 

bank money determines the equilibrium interest rates 

in an economy with currency and checkable deposits? 

(15) Explain using formal analysis and diagrams. 

(a) What is the difference between intermediate and 

7. 

final goods and services ? Why is the distinction 

between intermediate and final goods important 

for measuring GDP ? 

(b) How is the rate of interest determined by the 

demand and supply of money ? What happens to 

the interest rate if: 

(i) Nominal income increases. 

(5,10) (11) Money supply increases. 

P.T.O. 
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(i) 

Explain the followings: 8 

) Monetary Aggregates 

ii) GDP Deflator 

(iii)The Desired Capital Stock and the User Cost of 

(15) Capital 

) 

(500) 
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A 

/hat ar the objectives of Micro, Small& medium 
Enterprise Development Act (MSMED Act), 20062 

Briefly explain the salient features of this act. 

2. Explain with the suitable examples the impact of 

liberalization, privatization & globalization on MSMEs 

in India. 

Discuss the objectives & salient provisions of industrial 

& labour law applicable to SMEs in India. 



2523 

Describe the schemes of incentives o 
institutions promoting entrepreneurial training & 

development. 

Define Small Scale Industries", Do you think Smal 5 

Scale Business Establishment (SSBEs) contribute 

towards the growth rate of Indian economy? What 

iSsues they face in contributing towards the growth 

rate in Indian Economy? 

Describe various ways and means o accessing the 
6 

government help in developing the promotiona! 

programs for the small scale sector in India. 

P.T.O. 
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Short note:- (any two) 
1. 

(i) 
Government schemes for SMEs in India 

(ii) SIDBI 

(iii) Financial & nOn Iinancial entives 

(iv) NABARD 

iv)14TSa 

(500) 
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1 

2 

3. 

4. 

What were the circumstances that contributed to the 

civil war in America and what were the far-reaching 

consequences of this war? 

Discuss the salient features of capitalism in the 18th 2 

and 19th centuries. 

3. What theory of capitalism has been given by Lenin Or 

Hobson or Schampeter? 



3201 
3 

TeAT THT? 

4. Explain that the industrial development was al development was 
indirectly 

Japan. encouraged during the time of Tokugawa 1 

TTT 

What Social, Political, Economic reforms did v 
make after the fall of Tokugawa in Japan? How did 

these reforms promote capitalism in Japan 

6. Why did the Ottoman Empire enter World War 1? 6. 
What were its objectives and how prepared was it for 

a major war? 

What were the causes for the rise of neo- imperialism 

in Africa? Why did this results in the partition of 

Africa? 

P.T.O 
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Write a short notes on any two of the following: 

(i) Industrial revolution 

(ii) Gold in Africa 

(111) Imperialism 

(iv) Berlin conference 

G) 3Atefar5 if 

(ii) FTHTYT 

(iv T FT 

(1000) 
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What 
factors 

are responsible for slow growth of 

century? 

What measures are required to be taken to 

3504 

manutacturing 

sector in ) 

reforms 

constructed and ad. anstructed and adopted since the last qu 

ector in India despite liberal economic 
1. 

quarter 
anal of rapid growth of manufacturing in 

achieve 
the goal of 

India? (7.5,7.5) 

y 3TT47T ? 

2 India has made impressiVe recent progress in building 
2 

the "hardware" of economiC success, yet at the same 

time, the country continues to struggle to fix its 

software". In this background, discuss the statement-

Whether India manages to boom again and become 

a serious alternative to China will depend on whether 

the country can finally overcome the long-standing 

defects in its policy software." (15) 

THTERTT , fr FAA 3af T 
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Has What do you understand by 'Deindustrialisation? 3 

India deindustrialised like many Latin American a 
African economies? Give arguments in suppoT 

(5+10) answer. 

fa 

How has trade in services evoived over the years in 

India? What are the emerging issues in the arena or 

trade policy that India has to be mindful of ? 

(7.5+7.5) 

ATTfay? 

5. Doubling Farm Income in India has been the top most 

priority for India for decades. What are the major 

steps that the Government shouid take in achieving 

(15) the above? 

For services sector to be sustainable, the sector needs 6. 
to be well integrated with other parts of the economy, 

in particular the manufacturing sector." Elaborate and 

P.T.O. 
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uss this statement in the light of Indian experience 
since last two decades. 

(15) 

Do vou think India can base its future growth on 
7. 

exports in an increasingly deglobalized and post Covid 
world? How has India differed from China and other 

East Asian countries in the past in this regard. 

(7.5+7.5) 

Critically analyse the impact of the 'shock treatment 8. 
in the form of accepting the farm laws as the right 

path in increasing the productivity and incomes of the 

(15) farmers in the agricultural sector in India. 

(3500) 
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